Name:

Quiz 2 Review

Date:

Volume of a Prism:

Volume of a Cylinder:

Volume of a Cone;

Volume of a Pyramid:

Volume of a Sphere:

Surface Area of a Sphere:

Similarity Ratio:

Area Ratio:

Volume Ratio:




12) Find the seshepfesmewol volame of the solid.
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13jA cone with radivg Som and  height 12om is filled to capacity with hqmci Find the height of a
cylinder with radius 4 cm that will hiold the sams amonnt of Hyuid,
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141 the diameter of & soap bubble is known to be 2 mm, what is the surface area of the bubble?
What is the volume?
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151A pipe iz 300 om long and has ingide mﬁmﬁ 4 am and outside radiuy 5 cm. Find the volume of
metal, Hint: draw a disgram.

2700 71 om’

1By The vohume of a sphers iy 36%.  Find the surlace ares.

SA= 36T

171A pharmacist s filling medicine m@m&@s; The capsules are cylinders with half spheres on each
end, i the length of the cylinder i= 12 mm and the radius is 2 mm, how many cubic mm of
medication can ong capsule held? 3
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18} The number of square centimeters in the surface area of a sphere is twice the numh&r of eubic
certimeter in the volume of a sphere, Find the radiug of the sphers,
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20} A regular sguers pyramud is inscribed in & cone with radiug 4 om and height 4 om,
g} What iz the vohupe of the pyramid?
b Find the slant height of the cone and the pyramid.
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22)Cube C has 1 gurface area of 36 units® and Cuhe D has a surdacs area of 144 units®, Find the
scale factor of Oia D, % cl,

23) T fes:tangula: prisme are similar.
surface ares iz 90 om® and the whap

figure, Ve
A< 10 (m> Vs 500

24} Cone A is similar to conie B. The scale factor of AR is 2:3. The surface area and volume
of cone A are 90z m?* and 100z m?. Find the surface area and volume of cone B lexpress
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25)The wlume of sphere A iz 343x in® and the volame of sphere Bis & in®. Find the scils factor of
s T

26j At the MetroFlex movie theater, popcorn is served in & box. At the CinemaPlex movie theafer,
popoorn iz eerved in & cylindrical container., At home, Mom serves popcorn in a bowl

themizphere in shapej]. Based upon the given dimensions, where are you petting the most
popeorn? {Disregard the thickness of the confainer}
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Their scale factor is 3:53. For the smaller prism, the
& iz 54 om®, Find the surface ares snd vohume of the larger
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